



Some congruences involving powers of Legendre polynomials

Victor J. W. Guo

East China Normal University, Shanghai
People's Republic of China

Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page



Page 1 of 23

Go Back

Full Screen

Close

Quit

1 Introduction

The Legendre polynomials $P_n(x)$ may be defined as

$$P_n(x) = \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} \left(\frac{x-1}{2}\right)^k.$$

We refer the readers to [1, pp. 1–3]:

Koepf W. Hypergeometric Summation, an Algorithmic Approach to Summation and Special Function Identities. Friedr. Vieweg & Sohn, Braunschweig; 1998.

for seven different definitions of these polynomials. It is well known that the Legendre polynomials have the following orthogonal property:

$$\int_{-1}^1 P_m(x)P_n(x)dx = \frac{2}{2n+1}\delta_{m,n},$$

where $\delta_{m,n}$ denotes the Kronecker delta.



[Introduction](#)

[Proof of Theorem 1.2](#)

[Proof of Theorem 1.3](#)

[Proof of Theorem 1.4](#)

[Home Page](#)

[Title Page](#)



[Page 2 of 23](#)

[Go Back](#)

[Full Screen](#)

[Close](#)

[Quit](#)



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Z.-W. Sun proved that

$$\sum_{k=0}^{p-1} (2k+1)P_k(3) \equiv p + 2p(2^{p-1} - 1) - p(2^{p-1} - 1)^2 \pmod{p^4},$$

$$\sum_{k=0}^{n-1} (2k+1)P_k^2(3) \equiv 0 \pmod{n^2},$$

where $p > 3$ is a prime.

Home Page

Title Page

◀ ▶

◀ ▶

Page 3 of 23

Go Back

Full Screen

Close

Quit



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page

◀ ▶

◀ ▶

Page 4 of 23

Go Back

Full Screen

Close

Quit

Z.-W. Sun [6] also raised the following conjecture.

Conjecture 1.1. [6, Conjecture 5.1] *Let x be an integer and let m and n be positive integers. Then*

$$\sum_{k=0}^{n-1} (2k+1)P_k(2x+1)^m \equiv 0 \pmod{n}. \quad (1.1)$$

If p is a prime not dividing $x(x+1)$, then

$$\sum_{k=0}^{p-1} (2k+1)P_k(2x+1)^3 \equiv p \left(\frac{-4x-3}{p} \right) \pmod{p^2}, \quad (1.2)$$

$$\sum_{k=0}^{p-1} (2k+1)P_k(2x+1)^4 \equiv p \pmod{p^2}, \quad (1.3)$$

where $\left(\frac{\cdot}{p}\right)$ denotes the Legendre symbol.



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

The congruence (1.1) in a more general form has been confirmed by Pan [7]:

Pan H. On divisibility of sums of Apéry polynomials. *J Number Theory*. 2014;143:214–223.

However, Pan [7] did not give an integer coefficient polynomial formula for

$$\frac{1}{n} \sum_{k=0}^{n-1} (2k+1) P_k(2x+1)^m.$$

[Home Page](#)

[Title Page](#)

◀ ▶

◀ ▶

Page 5 of 23

[Go Back](#)

[Full Screen](#)

[Close](#)

[Quit](#)



We shall prove the following results.

Theorem 1.2. *Let n be a positive integer. Then*

$$\begin{aligned}
 & \frac{1}{n} \sum_{k=0}^{n-1} (2k+1) P_k(2x+1)^3 \\
 &= \sum_{i=0}^{n-1} \sum_{j=0}^{n-1} \sum_{k=0}^i \binom{n}{j+k+1} \binom{n+j+k}{j+k} \binom{i+j}{i} \binom{j}{i-k} \binom{j+k}{k} \binom{2i}{i} \\
 & \quad \times x^{i+j} (x+1)^i, \tag{1.4}
 \end{aligned}$$

$$\begin{aligned}
 & \frac{1}{n} \sum_{k=0}^{n-1} (2k+1) P_k(2x+1)^4 \\
 &= \sum_{i=0}^{n-1} \sum_{j=0}^{n-1} \sum_{k=0}^i \binom{n}{j+k+1} \binom{n+j+k}{j+k} \binom{i+j}{i} \binom{j}{i-k} \binom{j+k}{k} \binom{2i}{i} \binom{2j}{j} \\
 & \quad \times (x^2+x)^{i+j}. \tag{1.5}
 \end{aligned}$$

[Introduction](#)

[Proof of Theorem 1.2](#)

[Proof of Theorem 1.3](#)

[Proof of Theorem 1.4](#)

[Home Page](#)

[Title Page](#)



[Page 6 of 23](#)

[Go Back](#)

[Full Screen](#)

[Close](#)

[Quit](#)



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page

◀ ▶

◀ ▶

Page 7 of 23

Go Back

Full Screen

Close

Quit

Theorem 1.3. *The supercongruences (1.2) and (1.3) are true.*

Remark. Since $P_n(-x) = (-1)^n P_n(x)$ (see [1, (0.2)]), we see that (1.2) is equivalent to

$$\sum_{k=0}^{p-1} (-1)^k (2k+1) P_k(2x+1)^3 \equiv p \left(\frac{4x+1}{p} \right) \pmod{p^2}. \quad (1.6)$$

For any positive integer n and p -adic integer x , Z.-W. Sun [5, (4.6)] conjectured that

$$\nu_p \left(\frac{1}{n} \sum_{k=0}^{n-1} (-1)^k (2k+1) P_k(2x+1)^3 \right) \geq \min\{\nu_p(n), \nu_p(4x+1)\}. \quad (1.7)$$

where $\nu_p(x)$ denotes the p -adic valuation of x . It is clear that the congruence (1.6) confirms the $n = p$ case of (1.7).



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Theorem 1.4. *Let x be an integer and p an odd prime. Then*

$$\begin{aligned} & \sum_{k=0}^{p-1} (-1)^k (2k+1) P_k(2x+1)^4 \\ & \equiv p \sum_{k=0}^{\frac{p-1}{2}} (-1)^k \binom{2k}{k}^2 (x^2+x)^k (2x+1)^{2k} \pmod{p^2}. \end{aligned} \quad (1.8)$$

Numerical calculation suggests the following stronger result.

Conjecture 1.5. *The congruence (1.8) holds modulo p^3 .*

Home Page

Title Page

◀ ▶

◀ ▶

Page 8 of 23

Go Back

Full Screen

Close

Quit



2 Proof of Theorem 1.2

It is easy to see that (see [8, Lemma 3.2])

$$P_n(2x+1)^2 = \sum_{k=0}^n \binom{n}{k} \binom{n+k}{k} \binom{2k}{k} x^k (x+1)^k, \quad (2.1)$$

which can be deduced from Clausen's formula [9] (with $a = -\frac{n}{2}$, $b = \frac{n+1}{2}$ and $x \rightarrow -4x(x+1)$):

$${}_2F_1 \left[\begin{matrix} a, b \\ a+b+\frac{1}{2} \end{matrix}; x \right]^2 = {}_3F_2 \left[\begin{matrix} 2a, 2b, a+b \\ 2a+2b, a+b+\frac{1}{2} \end{matrix}; x \right], \quad |x| < 1, \quad (2.2)$$

and the following quadratic transformation of Gauss hypergeometric function (see [1, p. 180]):

$${}_2F_1 \left[\begin{matrix} a, b \\ a+b+\frac{1}{2} \end{matrix}; 4x(1-x) \right] = {}_2F_1 \left[\begin{matrix} 2a, 2b \\ a+b+\frac{1}{2} \end{matrix}; x \right]. \quad (2.3)$$

Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page

◀ ▶

◀ ▶

Page 9 of 23

Go Back

Full Screen

Close

Quit

Writing $P_\ell(2x + 1)^3$ as $P_\ell(2x + 1)^2 \cdot P_\ell(2x + 1)$ and applying (2.1),

$$\begin{aligned} & \frac{1}{n} \sum_{\ell=0}^{n-1} (2\ell + 1) P_\ell(2x + 1)^3 \\ &= \frac{1}{n} \sum_{\ell=0}^{n-1} (2\ell + 1) \sum_{i=0}^{\ell} \binom{\ell}{i} \binom{\ell + i}{i} \binom{2i}{i} x^i (x + 1)^i \sum_{j=0}^{\ell} \binom{\ell}{j} \binom{\ell + j}{j} x^j. \end{aligned} \quad (2.4)$$

Note that (see the proof of [10, Lemma 4.2])

$$\binom{\ell}{i} \binom{\ell + i}{i} \binom{\ell}{j} \binom{\ell + j}{j} = \sum_{k=0}^i \binom{i + j}{i} \binom{j}{i - k} \binom{j + k}{k} \binom{\ell}{j + k} \binom{\ell + j + k}{j + k}. \quad (2.5)$$

Moreover, we can easily prove that

$$\sum_{\ell=k}^{n-1} (2\ell + 1) \binom{\ell}{k} \binom{\ell + k}{k} = n \binom{n}{k + 1} \binom{n + k}{k}. \quad (2.6)$$

Substituting (2.5) into (2.4), and utilizing (2.6), we complete the proof of (1.4).

Similarly, writing $P_\ell(2x + 1)^4$ as $P_\ell(2x + 1)^2 \cdot P_\ell(2x + 1)^2$ and applying (2.1), we can prove (1.5).



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page

⏪ ⏩

◀ ▶

Page 10 of 23

Go Back

Full Screen

Close

Quit

3 Proof of Theorem 1.3

Proof of (1.2). Letting $n = p$ be a prime in (1.4), and noticing that $\binom{p}{k} \equiv 0 \pmod{p}$ for $1 \leq k \leq p - 1$ and $\binom{2p-1}{p} \equiv 1 \pmod{p}$, we obtain

$$\begin{aligned}
 & \frac{1}{p} \sum_{k=0}^{p-1} (2k+1) P_k (2x+1)^3 \\
 &= \sum_{i=0}^{p-1} \sum_{j=0}^{p-1} \sum_{k=0}^i \binom{p}{j+k+1} \binom{p+j+k}{j+k} \binom{i+j}{i} \binom{j}{i-k} \binom{j+k}{k} \binom{2i}{i} x^{i+j} (x+1)^i \\
 &\equiv \sum_{i=0}^{p-1} \sum_{j=0}^{p-1} \binom{i+j}{i} \binom{j}{p-i-1} \binom{p-1}{j} \binom{2i}{i} x^{i+j} (x+1)^i \pmod{p}.
 \end{aligned} \tag{3.1}$$

For $0 \leq i, j \leq p - 1$, there holds

$$\binom{i+j}{i} \binom{j}{p-i-1} \begin{cases} = 0, & \text{if } i+j < p-1, \\ \equiv 0 \pmod{p}, & \text{if } i+j \geq p. \end{cases} \tag{3.2}$$



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page



Page 11 of 23

Go Back

Full Screen

Close

Quit



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page

◀ ▶

◀ ▶

Page 12 of 23

Go Back

Full Screen

Close

Quit

Therefore, the possible nonzero summands modulo p in (3.1) must satisfy $i + j = p - 1$. In other words, the congruence (3.1) may be simplified as

$$\begin{aligned} \frac{1}{p} \sum_{k=0}^{p-1} (2k+1)P_k(2x+1)^3 &\equiv \sum_{i=0}^{p-1} \binom{p-1}{i} \binom{p-1}{p-i-1} \binom{2i}{i} x^{p-1} (x+1)^i \\ &\equiv \sum_{i=0}^{p-1} \binom{2i}{i} (x+1)^i \pmod{p}, \end{aligned}$$

where we used the fact $\binom{p-1}{i} \equiv (-1)^i \pmod{p}$ and Fermat's little theorem. The proof then follows from the well-known congruence

$$\sum_{k=0}^{p-1} \binom{2k}{k} x^k \equiv \left(\frac{1-4x}{p} \right) \pmod{p} \quad (3.3)$$

(see [6, Lemma 2.1] or [11, Theorem 1.1]). \square



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page



Page 13 of 23

Go Back

Full Screen

Close

Quit

Proof of (1.3). Let $n = p$ be a prime in (1.5). Similarly to the proof of (1.2), we have

$$\begin{aligned} & \frac{1}{p} \sum_{k=0}^{p-1} (2k+1) P_k(2x+1)^4 \\ & \equiv \sum_{i=0}^{p-1} \sum_{j=0}^{p-1} \binom{i+j}{i} \binom{j}{p-i-1} \binom{p-1}{j} \binom{2i}{i} \binom{2j}{j} (x^2+x)^{i+j} \\ & \equiv \sum_{i=0}^{p-1} \binom{2i}{i} \binom{2p-2i-2}{p-i-1} \quad (\text{by (3.2) and Fermat's little theorem}) \\ & \equiv 1 \pmod{p}, \end{aligned}$$

where in the last step we used the following fact

$$\binom{2i}{i} \equiv 0 \pmod{p} \quad \text{for} \quad \frac{p-1}{2} < i < p, \quad (3.4)$$

and $\binom{p-1}{\frac{p-1}{2}} \equiv 1 \pmod{p}$. □

4 Proof of Theorem 1.4

We need the following two lemmas.

Lemma 4.1. *Let n be a positive integer. Then*

$$\begin{aligned} & \frac{1}{n} \sum_{k=0}^{n-1} (-1)^{n-k-1} (2k+1) P_k(2x+1)^4 \\ &= \sum_{i=0}^{n-1} \sum_{j=0}^{n-1} \sum_{k=0}^i \binom{n-1}{j+k} \binom{n+j+k}{j+k} \binom{i+j}{i} \binom{j}{i-k} \binom{j+k}{k} \binom{2i}{i} \binom{2j}{j} (x^2 + x)^{i+j} \end{aligned} \quad (4.1)$$

Proof. It is exactly similar to the proof of Theorem 1.2. The difference is that we need to replace (2.6) by the following identity:

$$\sum_{\ell=k}^{n-1} (-1)^{n-\ell-1} (2\ell+1) \binom{\ell}{k} \binom{\ell+k}{k} = n \binom{n-1}{k} \binom{n+k}{k},$$

which can be proved by induction on n . □



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page

Navigation buttons: double left arrow, double right arrow

Navigation buttons: single left arrow, single right arrow

Page 14 of 23

Go Back

Full Screen

Close

Quit



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page



Page 15 of 23

Go Back

Full Screen

Close

Quit

Lemma 4.2. *Let n be a positive integer. Then*

$$\sum_{k=0}^n \binom{n}{k} \binom{2k}{k} \binom{2n-2k}{n-k} = \sum_{k=0}^n \binom{2k}{k}^2 \binom{k}{n-k} (-4)^{n-k}. \quad (4.2)$$

Proof. Applying Zeilberger's algorithm (see [1, 12]), we find that both sides of (4.2) satisfy the following recurrence relation:

$$(n+2)^2 S(n+2) - 4(3n^2 + 9n + 7)S(n+1) + 32(n+1)^2 S(n) = 0.$$

Noticing that they also have the same initial values $S(0) = 1$ and $S(1) = 4$, we complete the proof. \square



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page

◀ ▶

◀ ▶

Page 16 of 23

Go Back

Full Screen

Close

Quit

Remark. The referee pointed out that the identity (4.2) is well known: It appeared at least more than 20 years ago, when Apéry's work and its links with hypergeometric functions were discussed. Recently, Z.-W. Sun [13, pp. 11 and 24] gave the following identities:

$$\begin{aligned}\sum_{k=0}^n \binom{n}{k} \binom{2k}{k} \binom{2n-2k}{n-k} &= \sum_{k=0}^n \binom{n}{2k} \binom{2k}{k}^2 4^{n-2k} \\ &= \sum_{k=0}^n \binom{2k}{k}^2 \binom{k}{n-k} (-4)^{n-k}.\end{aligned}$$

It is worth mentioning that the numbers $2^n \sum_{k=0}^n \binom{2k}{k}^2 \binom{k}{n-k} (-4)^{n-k}$ are called the Catalan-Larcombe-French numbers, of which some supercongruences were studied by Jarvis and Verrill [14].



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page

◀ ▶

◀ ▶

Page 17 of 23

Go Back

Full Screen

Close

Quit

Proof of (1.8). Let $n = p$ be a prime in (4.1). Then

$$\frac{1}{p} \sum_{k=0}^{p-1} (-1)^k (2k+1) P_k(2x+1)^4 \quad (4.3)$$

$$= \sum_{i=0}^{p-1} \sum_{j=0}^{p-1} \sum_{k=0}^i \binom{p-1}{j+k} \binom{p+j+k}{j+k} \binom{i+j}{i} \binom{j}{i-k} \binom{j+k}{k} \binom{2i}{i} \binom{2j}{j} (x^2+x)^{i+j}$$

$$\equiv \sum_{i=0}^{p-1} \sum_{j=0}^{p-1} \sum_{k=0}^i (-1)^{j+k} \binom{i+j}{i} \binom{j}{i-k} \binom{j+k}{k} \binom{2i}{i} \binom{2j}{j} (x^2+x)^{i+j} \pmod{p},$$

(4.4)

where we used the fact that, for $0 \leq j, k \leq p-1$,

$$\binom{p-1}{j+k} \binom{p+j+k}{j+k} \binom{j+k}{k} \equiv (-1)^{j+k} \binom{j+k}{k} \pmod{p}.$$



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

By the Chu-Vandermonde summation formula, we get

$$\sum_{k=0}^i (-1)^k \binom{j}{i-k} \binom{j+k}{k} = (-1)^i. \quad (4.5)$$

Substituting (4.5) into (4.4), we obtain

$$\begin{aligned} & \frac{1}{p} \sum_{k=0}^{p-1} (-1)^k (2k+1) P_k(2x+1)^4 \\ & \equiv \sum_{i=0}^{p-1} \sum_{j=0}^{p-1} (-1)^{i+j} \binom{i+j}{i} \binom{2i}{i} \binom{2j}{j} (x^2+x)^{i+j} \\ & = \sum_{n=0}^{p-1} (-1)^n (x^2+x)^n \sum_{i=0}^n \binom{n}{i} \binom{2i}{i} \binom{2n-2i}{n-i} \pmod{p}, \quad (4.6) \end{aligned}$$

where we used the congruence $\binom{i+j}{i} \equiv 0 \pmod{p}$ for $0 \leq i, j \leq p-1$ and $i+j \geq p$.

Home Page

Title Page

⏪ ⏩

◀ ▶

Page 18 of 23

Go Back

Full Screen

Close

Quit



By (4.2), the right-hand side of (4.6) is equal to

$$\begin{aligned} & \sum_{n=0}^{p-1} (-1)^n (x^2 + x)^n \sum_{k=0}^n \binom{2k}{k}^2 \binom{k}{n-k} (-4)^{n-k} \\ &= \sum_{k=0}^{p-1} (-1)^k \binom{2k}{k}^2 \sum_{n=k}^{p-1} \binom{k}{n-k} 4^{n-k} (x^2 + x)^n \\ &\equiv \sum_{k=0}^{\frac{p-1}{2}} (-1)^k \binom{2k}{k}^2 \sum_{n=k}^{2k} \binom{k}{n-k} 4^{n-k} (x^2 + x)^n \\ &= \sum_{k=0}^{\frac{p-1}{2}} (-1)^k \binom{2k}{k}^2 (x^2 + x)^k (1 + 4x + 4x^2)^k \pmod{p}, \end{aligned}$$

where we used the congruence (3.4) and the binomial theorem. This completes the proof. \square

[Introduction](#)

[Proof of Theorem 1.2](#)

[Proof of Theorem 1.3](#)

[Proof of Theorem 1.4](#)

[Home Page](#)

[Title Page](#)

[⏪](#) [⏩](#)

[⏪](#) [⏩](#)

Page 19 of 23

[Go Back](#)

[Full Screen](#)

[Close](#)

[Quit](#)



There are several difficult conjectures in the following paper:

V.J.W. Guo and Jiang Zeng, Some q -analogues of supercongruences of Rodriguez-Villegas, *J. Number Theory* 145 (2014), 301-316.

One of them was just proved:

arXiv:1507.03107 The Rodriguez-Villegas type congruences for truncated q -hypergeometric functions, Victor J. W. Guo, Hao Pan, Yong Zhang. *math.NT* (math.CO).

We also have some conjectures in

arXiv:1412.5415 Proof of some conjectures of Z.-W. Sun on the divisibility of certain double-sums, Victor J. W. Guo, Ji-Cai Liu. *math.NT* (math.CO). to appear in *Int. J. Number Theory*.

[Introduction](#)

[Proof of Theorem 1.2](#)

[Proof of Theorem 1.3](#)

[Proof of Theorem 1.4](#)

[Home Page](#)

[Title Page](#)

◀ ▶

◀ ▶

Page 20 of 23

[Go Back](#)

[Full Screen](#)

[Close](#)

[Quit](#)



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page

◀ ▶

◀ ▶

Page 21 of 23

Go Back

Full Screen

Close

Quit

Let

$$S_n^{(r)} = \sum_{k=0}^n \binom{n}{k}^2 \binom{2k}{k} (2k+1)^r, \quad \text{and} \quad T_n^{(r)} = \sum_{k=0}^n \binom{n}{k}^2 \binom{2k}{k} (2k+1)^r (-1)^k.$$

Numerical calculation suggests the following conjecture.

Conjecture 4.3. *Let n and r be positive integers and p a prime. Then*

$$\sum_{k=0}^{n-1} S_k^{(2r)} \equiv 0 \pmod{n^2}, \quad (4.7)$$

$$\sum_{k=0}^{n-1} T_k^{(2r)} \equiv 0 \pmod{n^2}, \quad (4.8)$$

The congruence (4.7) for $r = 1$ was proved by Z.-W. Sun:

Z.-W. Sun, Two new kinds of numbers and related divisibility results, preprint, 2014, arXiv:1408.5381v8.

The congruence (4.8) for $r = 1$ was proved by Z.-W. Sun and his student. (But they have not yet written the paper!)

Thank you!



Introduction

Proof of Theorem 1.2

Proof of Theorem 1.3

Proof of Theorem 1.4

Home Page

Title Page



Page 22 of 23

Go Back

Full Screen

Close

Quit

References

- [1] Koepf W. Hypergeometric Summation, an Algorithmic Approach to Summation and Special Function Identities. Friedr. Vieweg & Sohn, Braunschweig; 1998.
- [2] Caughman JS, Haithcock CR, Veerman JJP. A note on lattice chains and Delannoy numbers. Discrete Math. 2008;308:2623–2628.
- [3] Sulanke RA. Objects counted by the central Delannoy numbers. J Integer Seq. 2003;6:Article 03.1.5.
- [4] Sun Z-W. On Delannoy numbers and Schroder numbers. J Number Theory. 2011;131:2387–2397.
- [5] Sun Z-W. On sums of Apéry polynomials and related congruences. J Number Theory. 2012;132:2673–2699.
- [6] Sun Z-W. Congruences involving generalized trinomial coefficients. Sci China. 2014;57:1375–1400.
- [7] Pan H. On divisibility of sums of Apéry polynomials. J Number Theory. 2014;143:214–223.
- [8] Sun Z-H. Congruences concerning Legendre polynomials II. J Number Theory. 2013;133:1950–1976.
- [9] Clausen T. Ueber die Fälle, wenn die Reihe von der Form $y = 1 + x\alpha\beta/1.\gamma + \dots$ ein Quadrat von der Form $z = 1 + x\alpha'\beta'\gamma'/1.\delta'\epsilon' + \dots$ hat. J Reine Angew Math. 1828;3:89–91.
- [10] Guo VJW, Zeng J. Proof of some conjectures of Z.-W. Sun on congruences for Apéry polynomials. J Number Theory. 2012;132:1731–1740.
- [11] Sun Z-W, Tauraso R. New congruences for central binomial coefficients. Adv Appl Math. 2010;45:125–148.
- [12] Petkovšek M, Wilf HS, Zeilberger D. $A = B$. Wellesley, MA: A K Peters Ltd; 1996.
- [13] Sun Z-W. List of conjectural series for powers of π and other constants. preprint, 2014, arXiv:1102.5649v46.
- [14] Jarvis F, Verrill HA. Supercongruences for the Catalan-Larcombe-French numbers. Ramanujan J. 2010;22:171–186.



[Introduction](#)

[Proof of Theorem 1.2](#)

[Proof of Theorem 1.3](#)

[Proof of Theorem 1.4](#)

[Home Page](#)

[Title Page](#)



Page 23 of 23

[Go Back](#)

[Full Screen](#)

[Close](#)

[Quit](#)